CSIT431 SPRING'2002 REVISION SESSIONS GROUP WORKSHEET 5 

(April 24th )


Names of Students:

(Submit only one worksheet for the whole group)

Chapter 6 & 9

Q1. 
Explain Figure 6.3 on page 269

Q2. What basic principle is used in deadlock prevention? Why are all such schemes inefficient?

Q3. 
Banker’s algorithm


What is a safe state?


Why P1 will not be able to complete execution if allowed first in Figure 6.6?

Q4. 
Attempt problem 6.3 on page 294

Q5. 
Consider Figure 6.9 page 281


What does the available vector indicate?


Why P1 and P2 remain unmarked?

Q6. Problem 9.1 Page 426

